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COST AND MANAGEMENT ACCOUNTING
Paper : 3.3

Full Marks — 80
Time — Three hours

The figures in the margin indicate full marks
for the questions.

1. Fill in the blanks : o 1x5=5

(@) Cost Accounting is _Ain its approach.

(historical / futuristic)

- (b) Standard cost is a — :
determined / predetermined).

cost. (post-

(¢) Margin of safety is referred to as excess of
actual sales over - .-(variable expenses /
break-even sales)

(d) LIFO method is suitable in times of —.
(rising prices / falling 'priqes) ' '

[Turn over




. - § @ y What1s u
{(e) According to Halsey I'remium Plan, fixed | . s v ‘

overhead cost per unit s with increase
in production. (reduced / increased)

2. State whether the following staicments are true |

or false : ‘ [ x5=5

(aj Cost Accountant hag & Narrow approach,

iby A Bin Card makes a record of the issue of

material only,

(¢} The principle of “management by exception”
can be successfully applied by the concerns
which follow technique of standard costing.

(d) Marginal costing is simple to uﬁderstand and
€asy to operate.

(e) In job costing, costs are calculated at the end
of the cost period. '

Answer the following (any five) : 2x5=10

jO8)
s

(a) What is P/V Ratio ?

(b) What is Flexible Budget ?

‘(c) What is Job Costing ?

(d) State two causes of Labour Turnover,
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(\;) Define Production
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of Zero Base Budggtmg ?
following

e Cost from the

0; Wages ! e
70’2gd Bxpenses on PUTChase.
,000. e :

hat Stores Ledger? )

,'.: ‘u! 3 : =

: the following (any ﬁve?. e
. - n Financial /Accoun
bitio ish between F}nax.lglal, |
D‘?lmll\;glz;lagement Acco_untmg.
an

Budget. |

juct is 6,400
roduct i8 O,
it 1 9} r order .
its. of;ering cost is Rstsplis i

ungsihrlehienventory carrying cost 15

aIl ‘ | " . n A i ¥ B

per unit per annum.

(o) Tho ancuel

s

annum. 4 Budgetary

Budget 'an'
' (d) ‘Distinguish between Budge ‘
Control. o - o
. n Premit
"(e) State the advantages of the Rowa
e i .
: Plan. ‘

[Tum over
3) :




(f) From the following partlculars prepare
Production Budget of a company relating
Product ‘X’ for the first quarter, 2012.

~Sales Target : : |
January = 60,000 units

- February = 48,000 units

‘March = 72,000 llI:li‘tS.

Stock Position : 1st January, 2012 = 50% |
of January 2012 sales.:

3lst January, 2012 = 24,000 units
29th February, 2012 = 36,000 units
31st March 2012 = 40,000 units

(2) Calculate the Re-ordenng Level, Mlmmum
Level, Maximum Level and Average Stock
Level of a material from the fo]lowmg
information :

Minimum consumption = 5 units per week

Max1mum consumptlon = 15Sunits per week

Normal consumption = = 10 units ber'week
Re-order quality = 60 units |
Re-order périod : = 3 to 5 weeks.
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TSR
4000 units @ RS_'
(b) The expenses for the production of 10, A
- units in g factory are given as follows -
Particulars ’Per unlt‘ (R

Materia] - ‘ 70
Labdur o ‘ ' : ' 235
Variable overhead ; 20
Fixed overhead (Rs. 100,0000 ¢
Variable expenses (Direct) 5

Selling €Xpenses (10 %, Fixed) 13
Administrative €Xpenses

(Fixed - Rs. 50,000) 5 5,000
Distribution CXpenses (20%, fixed) 7 80,000
Total cost of saleg per unit 155 | 15,00%
Administrative expenses are always fixed at ‘ 3’25%0
all Capacity of production, Prepare a budget 3 500'
for the production of 5.000
() 8000 units ang . 1’9;{500.
(i) 12000 units, ; o certified
: EL 5 , . pr t the end o 2 000
(c) The followirig are the transactiong of a firm nd @ R
in purchase and issue of materials, Sar g 0
2012 f plant at the end | "15%’(())(())0
; ] : : ; ) o 29' 2
January: 2 Purchased 4009 units @ Rs, 4 p year . 1.80,000
per units tract P"‘cz from contracte® trac’t Account.
4 ‘Purcha.sted 500 units @ Rs. 5 a8l r:cg;j'\red to prepare o '[Tum over
per units " You ar _

5 Issued 2000 units
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(e) Standard .Mix’ for production ‘X’
A : 60 tons. @ Rs. 5 per ton =
‘B.: 40 tons @ Rs 10 per ton
Actual mixture being
A : 80 tons @ Rs. 4 per ton
B: 70 tons @ Rs. 8 per ton
Calculate :
(a) Material Cost Variance ' "
(b) Mateﬁal Price Variance
(c) Material Usage Variance
(d) Material Mix Variance.
(f) What is Flex1b1e Budget ? What are the

“objectives of Budgetary Control ? State the
: advantages of Budgetary Control.

(2) What is Job Costing ? What is- Process
Costing ? Distinguish between Job Costlng
and Process Costing. :

(h) What is break-even analysis ? Discuss the
-assumptions and limitations of this technique.

(i) Write short notes on any two : v ' : 6
L ABC Smilis ' ‘

(i) Mafg_inal Costing

(iii) Cost Sheet.
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